
ENG

WOOD CHIPPER
EXPLODED VIEW
KS 500WS, KS 700WS



EXPLODED VIEW1 |   www.ks-power.de



EXPLODED VIEW 2



EXPLODED VIEW3 |   www.ks-power.de



EXPLODED VIEW 4



EXPLODED VIEW5 |   www.ks-power.de



EXPLODED VIEW 6

No  REF. No  DESCRIPTION  QTY 

1 KS 500WS-1 Feed hopper 1

2 KS 500WS-2
M6x30 Cross recessed pan

head screws 4

3 KS 500WS-3 Handle 2

4 KS 500WS-4 Flat Washer φ6 4

5 KS 500WS-5 Non-Metallic Insert Hex Nut M6 4

6 KS 500WS-6 Non-Metallic Insert Hex Nut M5 31

7 KS 500WS-7 Flat Washer φ8 65

8 KS 500WS-8 Anti-splash plate 1

9 KS 500WS-9 Press plate 1

10 KS 500WS-10 M8X20 Hex bolts 20

11 KS 500WS-11 Non-Metallic Insert Hex Nut M4 4

12 KS 500WS-12 Switch box 1

13 KS 500WS-13
M4x70 Cross recessed pan

head screws 4

14 KS 500WS-14 Non-Metallic Insert Hex Nut M10 29

15 KS 500WS-15 Spring Washer φ12 12

16 KS 500WS-16 Flat Washer φ10 38

17 KS 500WS-17 Engine 1



EXPLODED VIEW7 |   www.ks-power.de

No  REF. No  DESCRIPTION  QTY 

18 KS 500WS-18 Guide plate 1

19 KS 500WS-19 Knob 1

20 KS 500WS-20 Steerable hopper 1

21 KS 500WS-21 Fixed hopper 1

22 KS 500WS-22 Engine Fixed plate 1

23 KS 500WS-23 Bearing housing 2

24 KS 500WS-24 Body 1

25 KS 500WS-25 Key 1

26 KS 500WS-26 Spacer 2

27 KS 500WS-27 M10X25 Hex bolts 6

28 KS 500WS-28 Baffle 2

29 KS 500WS-29 Roller 1

30 KS 500WS-30 Knife 2

31 KS 500WS-31 8x7 key 1

32 KS 500WS-32 Body baffle 1

33 KS 500WS-33 Spring Washer M8 21

34 KS 500WS-34 Cover 1



EXPLODED VIEW 8

No  REF. No  DESCRIPTION  QTY 

35 KS 500WS-35 Pulley 1

36 KS 500WS-36 Flat Washer φ10 Big 1

37 KS 500WS-37 Cover 1

38 KS 500WS-38 Flat Washer φ8 Big 1

39 KS 500WS-39 Pulley 1

40 KS 500WS-40 M8X40 Hex bolts 2

41 KS 500WS-41 M8X25 Hex bolts 11

42 KS 500WS-42 Battery box 1

43 KS 500WS-43 Battery 1

44 KS 500WS-44
Positive and negative

power cord 2

45 KS 500WS-45
Battery positive and
negative terminals 2

46 KS 500WS-46 Knife 1

47 KS 500WS-47 M10x30 fixed bolt 10

48 KS 500WS-48 Fixed seat 1

49 KS 500WS-49 M10X80 Hex bolts 2

50 KS 500WS-50 M10X70 Hex bolts 4

51 KS 500WS-51 Wheel carrier 1



EXPLODED VIEW9 |   www.ks-power.de

No  REF. No  DESCRIPTION  QTY 

52 KS 500WS-52 Pin 2

53 KS 500WS-53 Wheel 2

54 KS 500WS-54 Nut 2

55 KS 500WS-55 Dust cover 2

56 KS 500WS-56 Flat Washer φ24 2

57 KS 500WS-57 Big Knob 1

58 KS 500WS-58 Trailer seat 1

59 KS 500WS-59 Pin 1

60 KS 500WS-60 R axis 1

61 KS 500WS-61 Supporting foot 1

62 KS 500WS-62 Cushion 2

63 KS 500WS-63 M8X70 Hex bolts 4

64 KS 500WS-64 Chain 2

65 KS 500WS-65 Non-Metallic Insert Hex Nut M12 3

66 KS 500WS-66 Tow pole 1

67 KS 500WS-67 Trailer cover 1

68 KS 500WS-68 M12X75 Hex bolts 3

69 KS 500WS-69 M8X16 Hex bolts 6



CONTACTS

Germany
ks-power.de
info@dimaxgroup.de

Poland
ks-power.pl
info.pl@dimaxgroup.de

Ukraine
ks-power.com.ua
sales@ks-power.com.ua

Russia
ks-power.ru
info@ks-power.ru


